Dr. Westerhold

Econ 232 
Supplemental Review Questions Exam 1:

Exam I covers Ch. 1 (overview), Ch. 3 (demand and supply) and Ch. 6 (elasticities)

This brief set of sample questions is simply to give you extra practice in preparing for exams. Most of the questions are taken from the testbank and hence, they may not be phrased exactly how I would phrase them in discussion or on your exam. This is NOT a complete test nor does it accurately represent all the information you should be ready for. These are extra practice questions so don’t expect your test to look like this! Your test will contain sections of multiple choice, fill in the blank, and problems structured as we’ve done both in class and on your HW assignments.
1. Which of the following is an example of "capital" as the term is used by economists?

a. the stoves and other food preparation equipment in a restaurant

b. minerals and other resources in their natural state

c. money

d. stocks and bonds owned by businesses and individuals

e. the managers who run the company

2.A rise in the price of beef should cause the demand curve for

a.  beef to shift rightward.

b.  beef to shift leftward.

c.  pork, a substitute for beef, to shift rightward.

d.  beef to become flatter.

3 .If the coming winter is more rainy than usual, we will see

a.  the demand for umbrellas shift to the left.

b.  the demand for umbrellas shift to the right.

c.  the price of umbrellas go up because there is a movement along the demand curve.

d.  a decrease in the quantity of umbrellas sold 

4. Which of the following will cause a decrease in supply of cereal?

a. a decrease in the price of cereal.

b. an improvement in the technology used to harvest grain.

c. a drought that destroys 5% of the grain harvest.

d. a decrease in the price of tractors which are used in the cultivation of grain.

5. The American Association of Health determines that coffee is good for your health, and 

coffee becomes more popular.  We would expect to observe that in the market for coffee there 
A.  an increase in equilibrium price and quantity.

B.  an increase in equilibrium price and a decrease in quantity.

C.  a decrease in equilibrium price and quantity.

D.  a decrease in equilibrium price and an increase in quantity.

6. If supply decreases and the demand curve does not shift, then the equilibrium price will ______ and the equilibrium quantity will ____________.

A. rise; rise

B. rise; fall

C. fall; fall

D. fall; rise

7. Apples and oranges are substitute goods.  A freeze in Florida destroys a good portion of the 

orange crop. All else being held constant

A. There will be a decrease in the quantity supplied of oranges and an increase in demand for apples.

B. There will be a decrease in the supply of oranges, and an increase in the demand for apples.

C. There will be a decrease in the supply of oranges and an increase in the quantity demanded for apples.

D.  There will be a decrease in the quantity supplied of oranges and a decrease in the demand for apples.

8.  If there a decrease in labor costs within the auto industry, we would expect to see

A. an increase in the quantity supplied of cars.

B. a decrease in the quantity supplied of cars.

C. an increase in the supply of cars.

D. a decrease in the demand for cars.

OMIT9. 

Use the following equations to answer questions 10-11:

10. If P=50-1/4Qd and P=2 +1/10Qs what is the equilibrium price and equilibrium quantity in this market? Show graphically the market labeling your Pe, Qe.
11. If a firm wants to sell an excess inventory of 100 units, how much should they charge to get eliminate this inventory?
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             12.Which of the following could explain a movement from point F to point G in Figure 3-2? Assume that the good represented is an inferior good.

	a.
	all of the following are correct

	b.
	an increase in buyers' incomes

	c.
	a decrease in the expected future price of the good

	d.
	an increase in the price of the good

	e.
	an increase in the price of a complement
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13. Suppose that initially the market for cassette tapes is at point A on demand curve D2 in Figure 3-3. If the price of cassette tapes decreased,

	a.
	the demand curve will shift to D3

	b.
	equilibrium will move to point B on demand curve D2

	c.
	equilibrium will move to point C on demand curve D2

	d.
	there will be no change from point A

	e.
	the demand curve will shift to D1




14. Which of the following could cause the market demand curve for hot dogs to shift to the left?

	a.
	an increase in the price of hot dogs

	b.
	An increase in the price of hamburgers, a substitute

	c.
	An increase in the size of the population

	d.
	an increase in the price of hot dog buns or rolls

	e.
	a decrease in the price of mustard, a complement




15. Which of the following would shift the demand curve for regular vanilla ice cream, which is a normal good, to the left?

	a.
	a change in tastes toward chocolate ice cream

	b.
	an increase in the price of frozen yogurt

	c.
	a decrease in the price of hot fudge sauce

	d.
	an increase in the price of regular vanilla ice cream

	e.
	an increase in buyers' incomes
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16. In Figure 3-5, a movement from point G to point H would represent

	a.
	a change in demand

	b.
	the impact of a decrease in the price of a substitute good

	c.
	higher prices for the inputs used to produce this product

	d.
	a change in demand plus a change in quantity demanded

	e.
	a change in quantity demanded




17. Sam graduates from college, where he earned $2,000 a year working part-time, and takes a job as an accountant, where he now earns $25,000 per year. After receiving his first paycheck, he gave away his bicycle and purchased a new car. Therefore,

	a.
	bicycles are not a normal good for Sam and are likely to be inferior

	b.
	automobiles are an inferior good for Sam

	c.
	bicycles are a normal good for Sam

	d.
	Sam's supply curve for automobiles is upward-sloping

	e.
	bicycles and automobiles are complementary goods for Sam


18.
 If the manager of Rocky’s increases the price of a hamburger and as a result their Total Revenues fall we would say that hamburgers are

A 
elastic

B.
 inelastic

C. 
unit elastic

D.
perfectly inelastic

19.
 If your product’s demand is price inelastic then you should

A. 
increase your price to increase revenue

B. 
decrease your price to increase revenue.

C. 
increase your supply to increase revenue.

D. 
decrease your demand to increase revenue

20.
If the income elasticity of US cars is 2.34 then

A.
US cars are price elastic.

B.
US cars are price inelastic.

C.
US cars are normal goods.

D.
US cars are inferior goods.

E. 
Both A and C.

21.
A negative cross price elasticity indicates

A.
inelastic demand.

B.
substitutes.

C.
complements.

D.
inferior goods.

E. 
unrelated goods.

22.
If Ecp= -2.31 then

A.
the good is a normal good.

B.
the good is an inferior good.

C.
the good is a substitute

D.
the good is a complement

E. 
both B and D.

23.
If you calculate the income elasticity for books and you get Ei=2.6 then

A.
books are normal goods.

B.
books are inferior goods.

C.
books are luxury goods.

D.
books are necessities.

E.
both A and C.

24.
If you estimate that Ei=-10 for your product and consumer incomes are falling then you would expect

A.
a shift to the right of your demand curve.

B.
a shift to the left of your demand curve.

C.
a shift to the right in your supply curve.

D.
a shift to the left in your supply curve.

E.
a shift to the right for both demand and supply.

25.
 If Ecp=-2.3 and the Price of Y increases by 10% then

A. 
the Demand for X will fall by 2.3%.

B. 
the demand for X will fall by 23%

C. 
the demand for X will increase by 2.3%

D. 
the Demand for X will increase by 23%.

E. 
the Demand for Y will decrease by 2.3%.

26.   Assume that as the price of product X increases, the demand for product Y decreases. It can then be concluded that

A. 
 Y is a luxury good.

B. 
 X and Y are substitutes.

C.  
X and Y are complements.

D. 
 Y is an inferior good.

E.   
the goods are substitutes and inferior.

27. 
You are the new Marketing VP for Nissan and you are targeting a new advertising campaign against your largest competitor, Jeep Grand Cherokee.  You know that Jeep is your biggest competitor because

A. 
The cross price elasticity is a large, negative number.

B. 
The income elasticity is a large, positive number.

C. 
The cross price elasticity is a large, positive number.

D. 
The price elasticity of demand is a large, positive number

E. 
The income elasticity is a large, negative number.
 

28.
The price elasticity of demand measures the

	a.
	responsiveness of a good's price to a change in quantity demanded

	b.
	adaptability of suppliers when a change in demand alters the price of a good

	c.
	responsiveness of quantity demanded to a change in a good's price

	d.
	adaptability of buyers when there is a change in demand

	e.
	responsiveness of quantity supplied to a change in quantity demanded




29.
The price elasticity of demand

	a.
	is negative for price increases and positive for price decreases

	b.
	is positive for price increases and negative for price decreases

	c.
	is negative for goods that follow the law of demand

	d.
	is positive for goods that follow the law of demand

	e.
	could be positive or negative depending on the change in buyers' incomes that accompanies a price change
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30.Consider demand curve D in Figure 4-7. Between points F and G, the price elasticity of demand is

	a.
	-1

	b.
	-0.5

	c.
	-2

	d.
	-0.2

	e.
	none of these
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31. In Figure 4-8, the price elasticity of demand equals __________ between points T and U and equals __________ between points V and W (these may be off due to rounding!)

	a.
	-0.33; -1.86

	b.
	-0.54; -3

	c.
	-3; -0.54

	d.
	-1.86; -0.33

	e.
	-2; -2




32. A local store noticed that when it increased the price of milk from $2.50 to $3.50 per gallon, it sold the same amount of milk per week (165 gallons). Since everything else remained the same, we would say the

	a.
	demand for milk is perfectly elastic

	b.
	demand for milk is elastic

	c.
	demand for milk is perfectly inelastic

	d.
	demand for milk is unitary elastic

	e.
	law of supply does not apply in this situation




33.
In general, the more of an individual’s total budget that is spent on a given product, the

	a.
	greater the supply-side response

	b.
	less elastic is the demand for that good

	c.
	more elastic is the demand for that good

	d.
	more the demand curve will shift when the price changes

	e.
	less the demand curve will shift when the price changes




34. When Brenda was in college, she worked part-time delivering pizzas and she ate five boxes of macaroni and cheese per week. After graduation, she became a high school teacher and ate only two boxes of macaroni and cheese per week. From this information,

	a.
	macaroni and cheese is a normal good for Brenda

	b.
	the law of demand applies to macaroni and cheese for Brenda

	c.
	macaroni and cheese are substitute goods

	d.
	macaroni and cheese is an inferior good for Brenda

	e.
	Brenda's income elasticity of demand for macaroni and cheese is positive




35 .Suppose that the income elasticity of demand for college education is 1.3. This indicates that

	a.
	college education is a necessity

	b.
	college education is an inferior good

	c.
	the demand curve for college education slopes downward

	d.
	college education is a luxury good

	e.
	the demand curve for college education is horizontal




36. Suppose that the income elasticity of demand for fresh vegetables is 0.26. If buyers' incomes rise by 10 percent, then

	a.
	the demand curve for fresh vegetables will shift to the left

	b.
	the quantity of fresh vegetables demanded will rise by 2.6 percent

	c.
	the quantity of fresh vegetables demanded will rise by 12.6 percent

	d.
	there will be a movement down and to the right on the demand curve for fresh vegetables

	e.
	there will be a movement up and to the left along the demand curve for fresh vegetables


	Figure 4-17

	Price

Per Chair
	Quantity of

Desks Demanded

	$ 45
	210

	$ 55
	190

	$ 65
	150

	$ 75
	120




37. Bill's Office Furniture sells office chairs and desks. Bill's has changed the price per chair by $10 in each of four successive weeks. Figure 4-17 shows the four prices along with the corresponding sales of desks. What is the cross-price elasticity of demand of desks with respect to chairs when the price of a chair changes in the $45 to $55 range?

	a.
	-2.0

	b.
	2.0

	c.
	0.5

	d.
	-0.5

	e.
	1.0


38. Suppose that the price of a music CD is $20 per unit.

	Income
	Quantity Demanded

	10,000
	20

	15,000
	40

	20,000
	60

	25,000
	80


A.Calculate the Income Elasticity for music CDs between income levels of 10,000 and 15,000. Show your work.

B. According to your calculations are music CDs a normal or inferior good? Are they a necessity or a luxury? Briefly explain why.



39.
After John's income rose by 8 percent, the amount of chicken he consumed fell by 2 percent. This means that

	a.
	his income elasticity for chicken is positive

	b.
	chicken is a normal good for John

	c.
	his demand curve for chicken shifted to the left

	d.
	his demand curve for chicken shifted to the right

	e.
	John is spending more of his income on chicken than before




40.
The cross-price elasticity of demand between butter and margarine is most likely

	a.
	positive, since the goods are substitutes

	b.
	positive, since the goods are complements

	c.
	negative, since the goods are complements

	d.
	negative, since the goods are substitutes

	e.
	zero, since the goods are both normal


Answer Section
1. A

2. C

3. B

4. C

5. A

6. B

7. B

8. C

9. B    OMIT
10. P=$15.71; Q=137

11. P=$25

12. D

13. C

14. D

15. A

16. A

17. A


18. A

19. A

20. C

21. C

22. D

23. E

24. A

25. B

26. C

27. C

28. C

29. C

30. B

31. D

32. C

33. C

34. D

35. D

36. B

37. D

38. 1.675; NORMAL AND LUXURY; 
39. C

40.  
A
